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Examinee is directed to read carefully the following
instructions :

1. Examinee must write histher Roll Number in the specilied

box on the lop left hand comer of this page. Answers are
required to be marked only on the Computerised O.M.R.
Answer sheet which is being provided to the examinge.

2. Besides filling in the Rolt Number, the examinee has to put

his/her signaiure and other required details like Name, Roll
Number, Question Booklet code, elc. as indicated on the
Answer OMR Sheel. if these detalils are not filled in by the
examines, his/her Answer Shaet will not be evaluated.

3. For each question, there are four alternative answers, oul

of which only one is correcl. Examinee must darken the
circle of correct option in the Answer Sheel by Black Ball
Pen only.

4. There are 16 (13+3) pages in this Question-Booklet

including 1 page lor General Instructions and two
blank pages for Rough Work in the last. In case
an examinee receives an incomplete or delective
Question Booklet, he/she should make a request
to the Room Invigilator to change the same within
10 minutes of start of the exam.

§. This Question Booklat contains 50 questions from following

subject :

(1) Biology Q. Nos. 1-50

Each question carries 1 mark and % mark will be deducted
for each wrong answaer.

In case of any discrepancy between the English and Hindi
versions of any question, the English version will be treated
as final/authentic.

8. Possession and use of electronic devices such as

Calculator, Cellular Phone, Digital Diary, Log Table, Pager,
etc., are restricted during the examination.

9. Any leal from the Question Booklet should not be detached.

After the Examination, Question-Booklel and Answer-
Shest must be handed aver to the Room Invigitator.

10. During examination the examinee will not be allowed to leave

h == o= == oo =w ww == == Page,.i"-.]D.'i- )

the examination hall till the END of the Examination.
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1. Which of the following is not an enzyme ? 1. Fafefag o @ e frvas i g 7

following.

A) For the construction of rDNA the
vector and source DNA should be cut
by using same restriction enzyme

B) Plasmids have the ability to replicate
independently within the bacterial
cell

C) In normal conditions DNA cannot
pass through cell membrane

D) Normally ‘Biolistics’ method is used to
transfer rDNA into animal cells

. Mutualism may be best defined as

A) a relationship between two species

B) arelationship which is favourable to
both but not obligatory

C) arelationship between two symbiotic
groups

D) arelationship which is favourable to
both and obligatory

. Choose the right sequence of Hydrarch

successnon from the following.
gloplankton- reed swamp stage-
merged plant stage- marsh
meadow stage - submerged free
floating stage- scrub stage - forest
B) phytoplankton- submerged plant
stage - submerged free floating stage
- reed swamp stage - marsh meadow
stage - scrub stage - forest
C) phytoplankton- submerged free
floating stage - reed swamp stage-
submerged plant stage-marsh
meadow stage - scrub stage - forest
D) phytoplankton - reed swamp stage-
submerged plant stage - submerged
free floating stage- marsh meadow

stage -scrub stage - forest

A) Severo Ochoa  B) EcoRl A) Fa3 @ B) EcoRl
C) Pepsin D) Insulin C) ufe D) sgfem
. Choose the wrong statement from the . Frfeafea & | Tew we i g

A) rDNA ! ufte 3 % g 2 DNA %
wira o 3 forg St afdeiy ferveaes =
YN HF Frdt FE TRY

B) wrafie # sfamy wiften % sfiw @
T SE0A it BT Bt R

C) amy wifedfeal § DNA ifsre freedt
Y T TR HeRaT &

D) o ®9 & Safager f&fa w1 sw=im
rDNA 1 9y] HiTIrenIaTl § T i
¥ fora fopa siren @

. JIEHETE THE §e9 Sgaiq &9 § qieiva

T B
A) 2 venifod  #ie gey

B) "y St I & fow argge & fF
stirart T

C) 3 wesiet wygl & o= gey
D) dew < afard aik 21 ¥ svge @)

. Fraferfan 3 & gegrh IvaiteR & wd

I H gAY |

A) TIET TEE - 3@ TS I - JHH
oY =reor — wRiHiEl =R - e g
IR =W - ThE T - A

B) UTEY TE ~ SeH TIHT S0 - ST

C) Tieq Wgeh ~ SOaH gl e =/
- $E@ TEEE T - SEHH T = -
HretefEY TR - whe =X - S

D) 9eY wIash - @ §clget 90l - ST
THET RO ~ FEHE o STERR T ~
HIIHTEl ST ~ The T - ST
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5. 'Key species’ is a

A) species which adds upto only a small
proportion of the total biomass of a
community, yet has a huge impact
on the community’s organization
and survival

B) common species that has plenty of
biomass, yet has a fairly low impact
on the community’s organisation

C) rare species that has minimal impact
on the biomass and on their species
in the community

D) dominant species that constitutes a
large proportion of the biomass and
which affects many other species

. Which of the following does not show
diplontic life cycle ?

A) Cycas

B) Solanum
C) Fucus

D) Ectocarpus

. Choose the incorrect statement from
the following.

A) PEP carboxylase is found in the
Mesophyll cells of C4 plants

B) RUBP carboxylase is found in the
bundie sheath cells of C4 plants

C) Mesophyll cells lack RuBisCo
enzyme

D) C4 acid OAA is formed in the bundle
sheath cells

. Descending limb of Henle allows the
reabsorption of

A) Sodium and Chloride ions only
B) Hydrogen and Potassium only
C) Water only

D) Glucose and Amino acids only

Page No. 4
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9.

10.

11.

12.

Choose the incorrect statement about
muscle contraction from the following.

A) Sodium ions are released from
sarcoplasm

B} I- bands get reduced
C) A-band retains the length
D) Shortening of sarcomere occurs

In a sampled population the allelic
frequency of recessive trait is 16% then
the allelic frequency of heterozygous
individuals is
A) 36%
C) 48%

B) 84%
D) 64%

Which of the following statements
are correct about all the four types of
maodifications : potato, ginger, carrot and
sweet potato ?

A) All are underground stem
modifications

B) All are underground root
modifications

C) Carrot, sweet potato and potato are
tap roots modifications

D) Carrot and sweet potato are root
modifications while potato and
ginger are stem maodifications

In which among the following animals
are arranged in an ascending order of
haploid set of chromosome numbers in
their gametes ?

A) Cat - Dog — Rat — Man
B) Dog - Cat — Rat — Man
C) Man — Dog — Cat — Rat
D) Cat — Rat — Man — Dog

9.

10.

11,

12,

D) forght — <Ig7 — et — g

frafafga ¥ @ wiaifiR & g7 F A

1T e Wl g |

A) e Al @i arRiered & ga R
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B) I- g #0891 §
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£ s AR 16% &, o Rrametfr
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A) 36% B) 84%

C) 48% D) 64%
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14,

13.

Select the wrong statement among the

following.

A) A mango tree has a much shorter life
span as compared to a peepal tree

B) No individual is immortal, except
single -celled organisms

C) Life span of organisms are
correlated with their sizes

D) Reproduction in organisms enables
the continuity of species

Identify the correct statement about

algae and fungi.

A) asexual reproduction is the common
method of reproduction and they shift
to sexual method of reproduction
just before the onset of adverse
conditions

B) sexual reproduction is the common
method of reproduction and they shift
to asexual method of reproduction
just before the onset of adverse
conditions

C) asexual reproduction and sexual
reproduction take place simultaneously
without any reference to conditions of
environment

D) Some reproduce only by asexual
methods and others by sexual
methods

Read the statements A and B and
identify the answers,
Statement A : Offsprings formed by
sexual reproduction exhibit more variation
than those by asexual reproduction.
Statement B : Gametes produced by the
two parents are qualitatively different in
their genetic constitution.
A) Statement A is correct but B is wrong
B) Statement A is wrong and statement
B is correct
C) Both the statements A and B
are correct
D) Both the statements A and B
are wrong

; 3 Fage No. 6
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16. ldentify the incorrect statement from the

17.

18.

following.

A) When genes are tightly packed on
the chromosomes, recombinations
are almost nil

B) When Morgan crossed wild type
drosophila for eye colour and
body colour with mutated form
like white eye and yellow body the
recombination was more

C) Incomplete dominance expression
is also noticed in garden pea

D) Multiples alleles for a character in a
population found on the same locus
on homologous chromosomes

A species is categorised as endemic
because it is

A) Found in harsh environment
B} Kept in captivity for breeding

C) Exclusively found in a particular
geographical zone

D) Feeding on common food resources

A testcross is done to find out

A) The genotype of an individual by
examining the phenotypes of its
oftsprings from a particular mating

B} The genotype of an individual for
testing for its DNA content

C) Toidentify the genotype of recessive
parent

D) Whether two species can interbreed

Page No. 7
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19,

20.

21,

22.

23.

Iliilul

Read the statements A and B and
identify the answers.

Statement A : Generally a woman does
conceive during lactation period.

Statement B : During lactation the
hormone progesterone suppresses the
production of gonadotrophins.

A) Statement A is correct but B is wrong

B) Statement A is wrong and statement
B is correct

C) Both the statements A and B are
correct

D) Both the statements A and B are
wrong

‘Parbhani Kranti’ is a

A) Hybrid variety of Maize

B) Hybrid variety of Bindi

C) Hybrid variety of Chilli

D) Hybrid variety of Cauliflower

Damage to thymus in a child may lead to

A) a reduction in haemoglobin content
of blood

B) the loss of celi mediated immunity

C) the loss of antibody mediated
immunity

D) a reduction in stem cell production

Which among the following is a narrow

spectrum insecticide ?

A) Trichoderma

B) Bacillus thuringiensis

C) Spirulina

D} Baculoviruses

in STP the biological treatment is

completed with the help of

A) Anaerobic parasitic bacteria

B) Aerobic symbiotic bacteria

C) Aerobic decomposing bacteria

D) Anaerobic decomposing bacteria

 Page No.'8"
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24,

25.

26.

27.

‘Glomus’ the genus in fungus does not
help the host in

A) resistance to insect pests

B) resistance to root borne pathogens
C) absorption of phosphorus

D) tolerance to salinity and drought

The construction of first artificial
recombinant DNA molecuie was by

A) Stanley Cohen and Herbert Boyer
using the plasmid of Escherichia
coli

B) Stanley Cohen and Herbert Boyer
using the plasmid of Salmonelia
typhimurium

C) Arber, Smith and Nathans using the
plasmid of Salmonella typhimurium

D) Arber, Smith and Nathans using
the plasmid of Agrobacterium
fumefaciens

Which of the following statement is
incorrect ?

A) PCR is useful in determining certain
genetic defects

B) Southern biotting is used to generate
DNA finger prints

C) DNA finger prints of identical twins
are similar

D) DNA finger print of children of same
parents are same

Which of the following is not an example 27.
for divergent evolution ?
A) Fore limbs of bat and man
B) Thorns of bougainvillea and tendril
of cucurbita
C) Potato and sweet potato
D) Eyes of butterflies and cockroach
Page No. 9 :
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28,

30.

31.

32,

33.

Which of the following is not the period
of Mesozoic era 7

A) Triassic
C) Cretaceous

B) dJurassic
D) Devonian

The brain capacity of Homo erectus was
A) 900 cc B) 1400 cc
C) 650 cc D) 1600 ce

Which of the foliowing gas was not
used by S.L. Miller in his experiment to
support chemical evolution theory ?

A) Methane

B) Molecular oxygen

C) Hydrogen

D) Ammonia

Which of the following is not a Mendelian
disorder ?

A) Thalassaemia

B) Phenylketonuria

C) Cri du chat syndrome

D) Haemophilia

The unit which is used to measure the
ozone is

A) CentiMorgan
B) Dobson units
C) Centimetre
D) Nanometer

Which of the following is a recently
extinct animal ?

A) Sparrow

B) Thylacine

C) Red panda

D) One horned Rhino

Bt Page No. 10
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34. Identify the mis-matched from the
following.

A) Linkage - T. H. Morgan

B) Ribosomes - George Paiade

C) Lac Operon - Jaceb and Monad
D) Omnis celiuia e cellula - Beijerinek

35. Emergency hormones are
A) Catecholamines
B) Proteinaceous hormones
C) Steroidal hormones

D) lodine derivatives

36. In an ecosystem, the population of

A) Primary producers is larger than
primary consumers

B) Secondary consumers is largest

C) Primary consumers out numbers
primary producers

D) Primary consumers are least
dependent upon primary producers

37. Which of the following is an incorrect
statement ?

A) Blastocyst consists of inner cell
mass and outer tropoblast

B) Testosterone hormone producing in
human is from the prostate gland

C) Use of condoms for prevention of
pregnancy is not a natural method

D) Ectopic pregnancy may occur due
to sexually transmitted disease

B j Page No. i1
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38.

39.

40.

Which of the following character is
ignored or not noticed by Mendel in
garden pea ?

A) Colour of the seeds
B) Colour of the fruits
C) Coilour of the flower

D) Starch content in pea seeds

Which of the following is not a defining
character in living organisms ?

A) Response to stimulation
B) Cellular organisation

C) Metabolism

D) Reproduction

Which of the following is not a
characteristic of genetic code ?

A) Codons degenerate
B) Codons are nearly Universal
C) Codons disintegrate

D) Codons unambiguous

41. ldentify the correct combination from the
following crops their variety and effect.
Crop Variety Resistance

A} Wheat Himgiri White rust

B) Brassica Pusa Komal Leaf and
stripe rust

C) Cowpea Pusa Komal Bacterial
blight

D) Chilli Pusa sadabahar Black rot

B
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39.

40.

41,

GRS

it o wex # Weel g PrrfeRaa § 9
Torer afer =Y e fome T & & ol
TR Y

A) st = @

B) Wl &1 41

C) A&

D) wex it sl § widt wrn
frfiaa & st sfifea et & o
i SfE A 8 7

A) I Y whafean

B) 3w @e

C) ==

D) w4
FfaRea & Fn sngefies afear i
o Ad @ ?

A) HEH gl

B) hie~g e arasifea 2

C) wie4 fomfea & s &

D) e T 8 &

el woa! @ 3R fafdear aik
Aoy & T GsH i UewE i |

wael RfEdvar  wfmy

A) iR it whesw
B) R wmwme  wh ek o em
C) i qowwe  AfFefad s
D) il qo wemeER e weiw

Page No. 12

5 JCECE (B)



TR

42.

43.

44,

45.

486.

If the base sequence are GAG; AGG;
GGA; CCA, GGG,CGA, then it is the
segment of

A) rRNA

B) mRNA strand

C) tRNA

D) Either single stranded DNA or any
RNA

DNA molecule with normal thymidine in
both the strands was made to replicate
in radioactive thymidine rich media; after
three replications what will be the number
of DNA molecuies with radioactive
thymidine in both strands ?

A) 6 B) 4
C) Only 2 D) All 8

The messenger RNA transcribed from the
structural genes in lac operon model is
A) monocistronic

B) dicistronic

C) polycistronic

D) hn RNA

The most important functions of mMRNA

is to

A) Provides the template for protein
synthesis

B) Hold a group of ribosomes
together

C) Transfer the genetic code to
ribosomal RNA

D) Transferthe message from cytoplasm
to nucleoplasm

In the life cycle of plasmodium,
gametocytes are produced in the

A) RBCs of man

B) Liver cells of man

C) Coelom of mosquitoes
D) Gut of mosquitoes

Page No. 13 [

42.

43.

44,

45,

48.

TE| ATUR 377FA & GAG; AGG; GGA;
CCA, GGG, CGA 19 98 TS 2

A) rRNA

B) mRNA feam

C) tRNA

D) a1 a1 & DNA 31 15 i RNA

2] fordit § T AreHiEE & w1 DNA
arv] =i e emstida v Hifgm &
gfcafera & fora svan m on; o sfeafem
% =18 g1 feret o AeaerdT engfird &
a1 DNA 27u[3ii <l T =1 it ¢

A) 6 B) 4

C) fak 2 D) wsfi 8
HaraTesd RNA, 9% HTOUH Aise (wfowq)
T TTEATCHsh 19 & SUTaa fora e §
A) AifEees

B) fsfmafes

C) uieIedeiish

D) hn IR T ¢ (RNA)

W 3R @ T (MRNA) ¥ Tl Teeagl S &

A) TIEH TeIeOr & fAU 3TeR Ug1 YeH ST &

B) =G % UYE i T o1 T&a1 &

C) Useidmel 3R UH T gaiyes Fam
TN T &

D) HTgEien ¥ ~faaaiaren 1 ey
TG T

AHSEH % Saas 1 ey @

IEUTEH BiaT B

A) o= % . &t €. (RBC)

B) g it w5 HivrRTed §

C) A=ai & gqg o '

D) "=l & Y2/ ofa o
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Analogous organs are
A) Different origin but similar functions

B) Common origin and common
functions

C) Different origin and different functions
D) Common origin but different functions

Passive immunity provided by the mother
to infant through breast feeding is

A) IgA B) lgG

C) Ige D) IgM

Identify the correct statement from the

following.

A) interrestrial ecosystem Grazing food
chain is the major one

B) In aquatic ecosystem Detritus food
chain is the major one

C) Annual net primary productivity from
sea is around 55 Million tons

D) Decomposition events such as
fragmentation, leaching, catabolism,
humification and mineralisation all
occur simultaneously

Read the statements A and B and
identify the answers.

Statement A:LSD, Benzodiazepines and
Barbiturates are used treat depression
and insomnia.

Statement B : Heroin is a Acetylated
morphine also called smack.

A) Statement A is correct but B is wrong

B) Statement A is wrong and statement B

is correct

C) Both the statements A and B
are correct

D) Both the statements A and B
are wrong
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48,
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A <
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A) fafir= go R wmm e
B) T wite 3w
C) it wiw ok fafi= =l
D) = & oR e =

A1 g W9 & w1eqw & gy ) vem A
el ffshan witwen &

A) IgA B) IgG

C) IgE D) IgM

frafafad o vé w7 H oemA = |

A) Tuelim wifedf @ # s @ s
THE

B) wiefiy aitferfa o o Sfoem @m si@en
TUH ®

C) 993 & Tifde Y& 11 yrufhies Iearesrar
M 55 faferaT e &

D) fees vt 3@ fergen, wifint, e,
ey 3R G i T E A E

A 3 B %591 1 98 3 SR qeEH L |
HUT A : IEHRE AR I3 F 1o F g

T T <, Sty iR afeeey w1
I R ST R |

WA B : B3 tfiergeies Al & 5@
AF I FET AR |

A) FF A 8l & TR BT @
B) #*H ATcia & M BT R
C) A 3R B! e ot §

D) A 3t B3 % erd 8
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